Fully-Worked Solutions

I Section A

1 Answer: C
2 Answer: B
3 Diameter =9 + 25
=34 cm
Radius =17 cm
0Q =8cm,AQ =15cm

AB =15+15
=30cm
Answer: D
4 PO=QR=12cm
0Q=5cm
SOQ =0S + 0Q
=13+5
=18 cm
Answer: B
5 KL=ILM=12cm
OK? = 5%+ 12?
=169
OK =13 cm
OJ=13cm
Answer: A
6 Circumference = 27mr
=2x22%105
7
=66 cm
Answer: A
7 Circumference = 27mr
=2x22 42
7
=26.4cm
Answer: C
8 2mr = 94.26
2x3.142 x r =94.26
_ 9426 _ 15
6.284
Answer: D

9 Area= 7 x 8.4%
=221.76 cm?

Answer: A

10 Area= 272 % 17.5?

=962.5 cm?
Answer: B
11 r =1386

%xrz=1386
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PRACTICE 5

12

13

14

15

16

17

18

P =1386x-L
2

17 = i
r=21cm

Answer: C
2mr =88
2x22 5, =88
7
7

=88 X —
44

=14 cm

22

Area = 22 x 142

=616 cm?
Answer: D
mr? = 124.74

% x 2= 124.74

P2 =12474x-L
2

7 =[5

r=63cm
Circumference = 2 X == 22 X 6.3
=39.6cm

Answer: A
Length of arc PQ

_ 63° 22 12

"~ 360° 7
=13.2cm
Answer: B

279° X2 X £>< 28

360° 7
=136.4 cm

Answer: D

Length of arc AB =44 cm

144° %2 %22 22

360° 7

——X2XZ==

RS =

Xr=44

35
88

=17.5cm

r=44x =—

Answer: B

Area of sector = - 216° X 2 x 17.5%
360°

7

=577.5 cm?
Answer: C
Length of arc PQ

= 60° ><2><2><7

360° 7
=733 cm
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19

20

Perimeter =7.33 +3+ 10+ 3
=23.33cm

Answer: A

Area of shaded region

—(28x 14)— 2<ﬂ x 22 142>

360° 7

=392 -308

=84 cm’

Answer: B

Area of shaded region

= T2 o ax -T2 px3?
360° 0°

72° o2 a2
=12 m82-3
3600 )

22
=22(64 -9
35( )

=34.57 cm?
Answer: D

I Section B

1

a: Diameter

b: Arc

c: Sector

d: Chord

@ O v
Gi) v

(b) @

X 2mr

360°

x 1’

(i)
360°
(a) FALSE
(b) TRUE
(c) TRUE
(d) FALSE

I Section C

1

A2

(a)

N
Pl

S

0

(b) Area of PORS =20x 16
=320 m?

Area of TSW =%x 10 14

=70 m?

Area of QUV =90° 22

360° 7
=78.57 m?
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Area of shaded region
=320-70-78.57
=171.43 cm?

(c) Angle of major sector

=7 %360°
9

=280°
Area of major sector
_280° 22
360° 7
=269.5 cm®
2 (a) Length of arc RS

££ % 10.5%

=4.1905 cm
Length of arc PQ

=10.0571 cm
Perimeter of shaded region
=4.1905 + 10.0571 +7 +7
=128.2476 cm
=28.25cm

(b)

Ll =L2

L =<9OO x 22 x 142>—(L>< 14 x 14)
360° 7 2
=154-98
=56 cm’
L, =56 cm?
Area of shaded region = Area of PORS —2 X L,
=14 x 14 - 2(56)
=196-112
=84 cm’
(c) Length of arc ST

=1lcm
PR*=12*+ 16’
PR = /400
PR =20 cm
Perimeter of shaded region
=11+5+20+9
=45cm
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